EXAM C QUESTIONS OF THE WEEK

S. Broverman, 2007

Week of April 2/07

Questions 1 to 4 are based on a survival study of 10 patients who have just been diagnosed with some
medical condition. They are divided into 2 groups of 5 each. The effect of amedical treatment is being
considered. Members of Group | do not receive the treatment (Z = 0) and members of Group Il receive
thetreatment (Z = 1). Over thefirst two time units, there is one death from Group 1 at time 1 and one
death at time 2, and from Group 2 there is one death at time 2, at which time, the study ends. The Cox
proportional hazard model with parameter 5 is used to formulate partial likelihood.

Find the maximum likelihood estimate of 3.
A) —80 B) —8 C) —.84 D) —.8 E) —.88

The solution can be found below.



Week of April 2/07 - Solution
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